11 A
PT= AT = TC 11 1
1 2 =
(% CP
1 2 G D304 PT2fl 1:43:927|PT3| 1 :43: 927 - -
2 DR-z400SM 1 144 927|pT1|| 1146 57517 1144 927] 101 |1.000
3 WR250( 146 756| - || 1150 815|PTs| 1 | 46] 756 103 | 2.829
4 DRZ-400SM 1 :47: 348 - KM[ 1 :47:348] 103 |3.421
5 VTR250| 1 53 725|P1s(| 147 449|p11]| 1+ 471 449] 103 |3.522
6 14 B2 457 1151 623 151623 107 |7.696
7 ZRX1200R 1 153; 13 |PTe 1151 754|pT4| 1 151 754 108 |7.827
8 SV400S | 1|53 951|pPT1|f 1153 439|Pa1| 1|53 439 109 |9.512
9 VTR1000| 1 58 608| Prs|l 1155 457|aT1| 1 155 457| 111 [11.530)
10 2 018 376|PT5|[ 1159 108 1159 108] 115 |15.181
11 DR-Z400SM 2 134 432| [l 216 62|.4| 21 6 62] 121 [22.13
11 B
PT-= AT= TC 11 1°
L X B A
%) C P P (
1 Z650 | 1:58:767|PT1y 1 :48: 225 1:48:225| - - 104 | 4.298
2 z250 |21 872|101 49 120[PT1| 1 | 49 120 105 |0.895| 105 | 5.193
3 CRM250RR 1 | 53! 353|PT1|| 1152/ 800 11521800 109 |4.575| 109 | 8.873
4 VTR250 | 1 54 425| - || 1 53 154 1153 154] 109 |4.929| 109 | 9.227
5 2 526 244 - | 1154 249 1154} 249 110 |6.024| 110 |10.327
6 ZRX1100| 2 | 1| 656|PTs|| 1 54 536 1 541536 110 |6.311| 110 |10.609
7 400 154, 590|P12| 1 | 54]590| 110 |6.365| 110 |10.663
8 DR-Z400SM 1 :57: 656 PT4 - 1:57:656] 113 |9.431| 113 |13.729
9 71000 |2]3/324|pafl 2] 2 150[a1| 2| 2 [159] 118 |13.934 118 |18.232
10 CBR60ORR 2 1 25, 770| PT4[ 2 130 768 2 25 770| 140 |37.545 140 [41.843




11 Cl
PT= AT = TC 11 1
L ) C1l A
(% C P %
Z1000 | 1 59 713 1 720[pPT2 59: 713 - - 115 | 15.784
Z1000 | 2:5:777 2:963 2 1963] 103 | 3.250( 118 [19.034
| 2.5 927 4:634 4 :634] 104 |4.921( 120 |20.707
KLX250E$ 2: 9 : 564 5:831 5:831] 105 |6.118| 121 (21.904
VTR250 - KM 71497 7 1497) 107 | 7.784| 123 [23.57(
Z1000 | 2:16: 677|PT1 10: 221 10: 221 109 10.508| 125 [26.294
GSX-S100( - KM 11: 689 11:689| 110 11.976" 127 |27.762
2 0 332 17: 199 17:199] 115 |17.486)| 132 |33.272




11 C2
PT= AT = TC 11 1
. > C2 A
(%) ( (%) (

R1Z250 12: 632 7588 7 588 - - 123 |23.661

Z250 - 9:637 9 1637] 102 |2.049| 125 |[25.71(

Z800 10} 736| P2 2 i11i 219|AT2 10: 736] 102 |3.148| 126 |26.809

ER6N 19: 475 19: 895 19:475| 109 |11.887|| 134 |35.548

CB400SF| 2 i 25: 423 - KM 25 423| 114 |(17.835) 140 |41.496




PT= AT= TC 11
1 2 A
(%) ( (%)
PT1
538 24 P10 131 923| P12 31i923] - -

295677 37 262 37:262| 106 |5.339

MT-07 46 703 45! 532 45:532| 115 [13.609

MTO09 5211|712 1 55 390|"1! 55: 300| 126 |[23.467

AT1

AT1




11

- AT = T0 11 1
1 2 A

(% ( % (
1 ZRX1200R 1 :53; 13 |Prof 1i51: 754|PTa| 1 i51:754] - - || 108 | 7.827
2 ZRX1100[ 2 ; 1:656(PT5| 1 :54; 536 1:54:536] 102 |2.782) 110 |10.609
3 VTR1000| 1 :58; 608|PTs|f 1 :55; 457(AT1] 1 :55;457] 103 |3.703} 111 |11.53(
4 Z1000 | 1:59: 713 2:1:720|PT2] 1:59:713] 107 | 7.959( 115 |[15.784
5 71000 | 2: 3:324|p13f 2: 2:159(AT1] 2 i 2 {159] 109 |10.405( 118 |[18.232
6 71000 [2:5:777 - [ 2} 2963 22963 110 [11.209| 118 |19.03§
7 71000 |2 :16i677|PT1f 2 110i 221 2 110i221] 117 |18.467 125 |26.294
8 7800 | 210} 736|P12| 2 i11: 219(AT2| 2 i 10i 736] 117 |18.982| 126 |26.809
9 GSX-51009 : - kmfl 2111 689 2 111689 118 (19.935 127 |27.763

10 MTO9 | 2i5i211|570 1 :55i390|51;] 1i55i3090] - - - -

11
PT= AT= TO 11 1
1 2 A

%) ( % (
1 71000 [2:5:777 - [|2i 2963 2:2:i963 - - || 118 |19.036
2 71000 |2 :16:677|pT1f| 2 {10; 221 2 :10:221| 106 |7.258( 125 |26.294
3 CBR6OORR 2 : 25: 770|PT4| 2 i 30; 768 2 :25:770| 119 (22.807| 140 |41.843




AT1

AT1

11
PT= AT= TO 11 1
1 2 A

(%) ( (%) (
1 71000 | 1159 713 2i1:720|pT2| 1i59:713| 100 | 0.00 | 115 | 15.79
2 R1Z250 | 2 i12: 632 27588 2:7:588| 107 | 7.88 | 123 | 23.66
3 2 @0 332 21171 199 2 117199 115 | 17.49|| 132 | 33.27
4 ER6n | 2:19: 475 2119: 895 2 119: 475| 117 | 19.76|| 134 | 35.55
5 CB400SF| 2 i 25! 423 - km| 2 i25i423] 121 | 25.71|| 140 | 41.50
6 1:39%6r7 1137 262 1i37:i262| - - - -
7 MT09 | 2521177 1i55:300[ T} 1 i55:300| - - - -




